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This circuit consists of a battery and a heating coil.  The coil heats up.




A second identical heating coil is added.




(a)
What happens to the current in the circuit?

Tick ONE box ()


It gets bigger.


It stays the same.


It gets less, but not zero.


It drops to zero.

(b)
How would you explain this?

Tick ONE box ()


The battery is not strong enough to push any current through two heating coils.


The battery cannot push as big a current through two heating coils.


It is the same battery, so it supplies the same current.


Two heating coils need more current than one on its own.


The current is shared between the two heating coils, so each gets half.

How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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